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Test Case Identifier

Input Specification

Output Specification

PTS_STC_000_& A}

FIEFEEE B txt op e

M= S 2 Al 502 7t=
Y®E g45t= Zdae 8ls

Gt= "e=of e gae Uy

0| 0|20 X|=X2 &)

PTS_STC_001_& A} Card: Monitor:PASS BRO

InOut=0, Balance >= 1050 Sound:PASS

Terminal: Card: Balance -= 1050

5001 InOut=1, Mot=1,

TerminallnfoFromCard=HHA ™ &

PTS_STC_002_&X} Card: Monitor:PASS BRO

InOut=0, Balance >= 1050 Sound:PASS

Terminal: Card: Balance -= 1050

7001~7005 InOut=1, Mot=0,
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Ver. Team7-2014.PTS.STP-1.0

TerminallnfoFromCard=X| &} & ™
=

PTS_STC_003_&X} Card: Monitor:GET OUT RIGHT NOW
InOut=0, Balance < 1050 Sound:DENY
Terminal:
5001

PTS_STC_004_& X} Card: Monitor:GET OUT RIGHT NOW
InOut=0, Balance< 1050 Sound:DENY
Terminal:
7001~7005

PTS_STC_005_3}}

FIEEE7E B txt op e

M2 S A4d Al
=

o
ZJI\-E ==

PTS_STC_006_3} A}

Card:
Mot=1,InOut=1,TerminallnfoFromCard=
HA™EE

Terminal:

5001

@+X ZH 7IE0 7|=E0[ Aojof e

Moniter:BYE BRO
Sound:OFF

Card: Balance -= 0
InOut=0, Mot=1,

TerminallnfoFromCard=HHA ™ &

PTS_STC_007_8}4}

1.Card:
Mot=0,InOut=1,TerminallnfoFromCard=
XoHEZE

Terminal:

SAS XSHE Bizet 1 X0 L= &4

o
e

2.Card:
Mot=0,InOut=1,TerminallnfoFromCard=
XStEER

Terminal:

SAteh X[5HH Bzt 2 0y XpO| Lt
= 8%

@+X ZAX 7|=E0| 7|F0| AO{OF ot

1.Moniter:BYE BRO

Sound:OFF

Card: Balance-=0,
InOut=0,Mot=0,
TerminalinfoFromCard=X|35} &S
=2

2.Moniter:BYE BRO

Sound:OFF

Card: Balance-=200,
InOut=0,Mot=0,
TerminalinfoFromCard=X|35} &S
=]

PTS_STC_008_%t&

1. Card:
Mot=1,InOut=0,TerminalinfoFromCard=
KA HE, Balance >= 600

Terminal:

7001~7005

1.Moniter:TRANS BRO
Sound:TRANS

Card: Balance-=0,
InOut=1,Mot=0,

TerminalinfoFromCard=H A& &

Team 7




Ver. Team7-2014.PTS.STP-1.0

2. Card:
Mot=1InOut=0,TerminallnfoFromCard= | 2.Moniter: GET OUT RIGHT
HA™H, Balance < 600 NOW
Terminal: Sound: DENY
7001~7005
@15z o|Ly
PTS_STC_009_zt=& 1. Card: 1.Moniter:BYE BRO
Mot=0,InOut=1,TerminallnfoFromCard= | Sound:OFF
HA™H Card: Balance-=300,
Terminal: InOut=0,Mot=0,
=XIeh X5 HTQF 1X10| L= 4% | TerminalinfoFromCard=X|s}& N
2. Card: H
Mot=0,InOut=1,TerminallnfoFromCard= | 2.Moniter:BYE BRO
HA™HE Sound:OFF
Terminal: Card: Balance-=600,
SAeH Kot Bt 2 0]y AHO| Lt | InOut=0,Mot=0,
= 42 TerminalinfoFromCard=X| s} & ™
=2
PTS_STC_010_zt= Card: Moniter:PASS BRO
Mot=1,InOut=0,TerminallnfoFromCard= | Sound:PASS
HANEE Card: Balance-=1050,
Terminal: InOut=1,Mot=0,
7001~7005 TerminalinfoFromCard=X| 5} &2 &
@15% 0|= L]
PTS_STC 011_3t& 1. Card: 1. Moniter:TRANS BRO

Mot=0,InOut=0,TerminallnfoFromCard=
X|5t&H &, Balance>=700

Sound:TRANS
Card: Balance-=0,

Terminal: InOut=1,Mot=1,
5001 TerminalinfoFromCard=X| s} & ™
2. Card: H
Mot=0,InOut=0,TerminallnfoFromCard= | 2.Moniter: GET OUT RIGHT
XSt H &, Balance<700 NOW
Terminal: Sound: DENY
5001
@152 O|L

PTS_STC 012 %t Card: Moniter:BYE BRO

Team 7




Ver. Team7-2014.PTS.STP-1.0

Mot=1,InOut=1,TerminallnfoFromCard=

XHEEE

Sound:OFF
Card: Balance-=(30ZX & 1002),

Terminal: InOut=0,Mot=1,
5001 TerminalinfoFromCard=H A& &
PTS_STC 013 &zt Card: Moniter:PASS BRO

Mot=0,InOut=0,TerminallnfoFromCard=

XHEEE

Sound:PASS
Card: Balance-=1050,

Terminal: InOut=1,Mot=1,
5001 TerminalinfoFromCard=HHA M &
@15= 0|=

PTS_STC_014_0O| ™At 1. Card: 1.Moniter:PASS BRO

Mot=0,InOut=1,TerminallnfoFromCard=
HA™H, Balance>=1650

Terminal:

5001

2. Card:
Mot=0,InOut=1,TerminallnfoFromCard=
HA™H, Balance>=1650

Sound:PASS

Card: Balance-=1650,
InOut=1,Mot=1,
TerminalinfoFromCard=H A& &
2.Moniter:PASS BRO
Sound:PASS

Card: Balance-=1650,

Terminal: InOut=1,Mot=0,
7001~7005 TerminalinfoFromCard=X| 5} 2 &
H
PTS_STC_015_0O| g At 1. Card: 1.Moniter:GET OUT RIGHT NOW

Mot=0,InOut=1,TerminallnfoFromCard=
HA®H, Balance<1650

Terminal:

5001

2. Card:
Mot=0,InOut=1,TerminallnfoFromCard=
HA™H, Balance<1650

Terminal:

7001~7005

Sound:DENY

2.Moniter:GET OUT RIGHT NOW
Sound:DENY

PTS_STC_016_0| & At

1. Card:
Mot=0,InOut=1,TerminallnfoFromCard=
X|SIEH &, Balance>=1250

Terminal:

5001

2. Card:

1.Moniter:PASS BRO
Sound:PASS

Card: Balance-=1250,
InOut=1,Mot=1,
TerminalinfoFromCard=HA ™ &

2.Moniter:PASS BRO

Team 7




Ver. Team7-2014.PTS.STP-1.0

Mot=0,InOut=1,TerminallnfoFromCard=
X|stE ™ &, Balanc>=1650

Sound:PASS
Card: Balance-=1250,

Terminal: InOut=1,Mot=0,
7001~7005 TerminalinfoFromCard=X| s} & ™
2
PTS_STC_017_0O|7g At 1. Card: 1.Moniter:GET OUT RIGHT NOW

Mot=0,InOut=1,TerminallnfoFromCard=
X|sIEH &, Balance<1250

Terminal:

5001

2. Card:
Mot=0,InOut=1,TerminallnfoFromCard=
X|5t&H &, Balance<1650

Terminal:

7001~7005

Sound:DENY

2.Moniter:GET OUT RIGHT NOW
Sound:DENY

PTS_STC_018_O| & At

1. Card:
Mot=1,InOut=1,TerminallnfoFromCard=
X|StE ™ &, Balance>=1750

Terminal:

5001

2. Card:
Mot=1,InOut=1,TerminallnfoFromCard=

X|sIEHE, Balance>=1750

1.Moniter:PASS BRO
Sound:PASS

Card: Balance-=1750,
InOut=1,Mot=1,
TerminalinfoFromCard=tHAH &
2.Moniter:PASS BRO
Sound:PASS

Card: Balance-=1750,

Terminal: InOut=1,Mot=0,
7001~7005 TerminalinfoFromCard=X| 5} 2 &
H
PTS_STC_019_0O| ™At 1. Card: 1.Moniter:GET OUT RIGHT NOW

Mot=1,InOut=1,TerminallnfoFromCard=
X|5t&H &, Balance<1750

Terminal:

5001

2. Card:
Mot=1,InOut=1,TerminallnfoFromCard=
X|SIE™H E, Balance<1750

Sound:DENY

2.Moniter:GET OUT RIGHT NOW
Sound:DENY

Terminal:
7001~7005

PTS_STC_020_7|E} FIE™ME I BRI txt ObY NSk
Terminal:

Team 7




Ver. Team7-2014.PTS.STP-1.0

5001
PTS_STC_021_7|E} FIE™E T} ERZI txt b INNES ]
Terminal:
5001
PTS_STC_022_7|E} FZIE™ETF B0 txt o INENES ]
Terminal:
7001~7005
PTS_STC_023_7|E} FZIE™ETF B0 txt o INENES ]
Terminal:
7001~7005
PTS_STC_024_7|E} Enable.txt | Zf 1 Wait2 &=
PTS_STC_025_7|E} SHAHE S A X| Xot JEjet ¢ o7 gar Zar &
PTS_STC_026_7|E} Enable.txt | Zf 1 x7|3F A A|E
PTS_STC_027_A{t{ Enable.txt | 2t 1 INENESgn]
PTS_STC_028_A{H{ =5 Z2H 7= AR E
1 HA 0|8 7|20 Y= AL
paymentData_5001
2. Iskd o8 7|=0t U FL
paymentData_7001~7005
3. H{AQt X|5HE 0|8 7|E0] Z0| A
£ 3¢
paymentData_5001,7001~7005
PTS_STC_029_MH{ 1. trans_history.txt N ESan]
2. paymentData_5001,7001~7005,
trans_history.txt
PTS_STC_030_A{H 1. trans_history.txt INFNFSan |
2. paymentData_5001,7001~7005,
trans_history.txt
PTS_STC_031_A{H{ paymentData_5001,7001~7005 INENES g
PTS_STC_032_AMH paymentData_5001,7001~7005 INENFSan |

PTS_STC_033_A{H{

paymentData_5001,7001~7005

Enable.txt | Z} 0,
Total_Bus.Data.txtAl

Total_Metro_Data.txt24 A

Team 7
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Test Case Identifier

Input Specification

Output Specification

PTS_STC_000 1&1~5 = o}L} or 2 -
FEE : 1050, CARD_BALANCE : X}
PTS_STC_001 2
ZE 2o
FEE : 1050, CARD_BALANCE : X}
PTS_STC_002 1
ZE 2o
Card_Data.txt L FHEE < 105001 At
PTS_STC_003 . 2 NOT ENOUGH MONEY
Card_Data.txt L{f RtoHEHE < 105001 At
PTS_STC_004 B 1 NOT ENOUGH MONEY
PTS_STC_005 K MEJOM 1&1~5 = St} or 2 -
FEE : 1050, CARD_BALANCE : %t
PTS_STC_006 2->2
of
1&1~5 & 8} -> 1&KS AME4SH o | FEE : 0, CARD_BALANCE : XoH
PTS_STC_007
A 1EAE AHZlof A= G
1&1~5 £ &L} -> 1&KS MEHSH A | FEE : 200, CARD_BALANCE : X}
PTS_STC_008
oM 2FAT o4 Helo s o 2 Ty
1&(~5 = B}L} -> 1& KNS MEliSH A2
PTS_STC_009 (+ & ot N 1 "= | NOT ENOUGH MONEY
M elet LIHMX| &5 StLt
Card_Data.txt L} ZteH >= 1650Q1 ArEl, | FEE : O, CARD_BALANCE : %t
PTS_STC_010
2->2->1&l1 oH
Card_Data.txt L 7t < 165091 AFE],
PTS_STC 011 NOT ENOUGH MONEY
2->2->14&1
2->2->(15% O|L}) 1&1~5 = &}L} - | FEE : 300, CARD_BALANCE : %}
PISSTCO12 | > 18XS M2 QoM 1A 7 | 28 T
2o e 9
2->2-> (15X O|L}) 1&1~5 = &}L} - | FEE : 600, CARD BALANCE : X}
PTSSTC 013 | > 18IS Meizh Slojn 2¥AHY of | ZE oy
o Aelof e 9
N FEE : 1050, CARD_BALANCE : X}
PTS_STC 014 2->2-> (15X 0|5) 1&1~5 = 3tLt
ZE Ty
Card_Data.txt L Zted >= 1750Q1 ALE},
FEE : 0O, CARD_BALANCE : %t
PTS_STC 015 1&1~5 = &L} -> 1&1~5 = &L} ->
, o
Card_Data.txt L{f 7t < 175091 AFE],
PTS_STC_016 N N NOT ENOUGH MONEY
1&1~5 & &L} -> 1&1~5 & 8L} ->
Team 7 9
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2
FEE
1&1~5 = L} -> 1&1~5 = 8L} ->
PTS_STC_017 100|200|300]400|500[600|700
(15% O|Lf) 2 -> 2
CARD_BALANCE : X}Zt&l XkoH
1&1~5 = 8}L} -> 1&1~5 & &}L} -> | FEE : 1050, CARD_BALANCE : %
PTS_STC_018 & ot & ottt - r
(15% 0|Z )2 ZbE| EroH
2 -> 2 -> (15% O|Lff) 1&1~5 = S}L} - | FEE : 1650, CARD_BALANCE : %}
PTS_STC_019
>2 ZEl Ty
o = FEE : 1650, CARD_BALANCE : %}
PTS_STC_020 sto| 3t 2 gle
Ztz| X}OH
O = - "1
e FEE : 1750, CARD_BALANCE : %}
PTS_STC_021 3tol & 2~ gle
ZEl Ty
1&1~5 = &}L} -> 1&1~5 = 8}L} -> | FEE : 1750, CARD _BALANCE : X
PTS_STC_022 & ottt & St - r
(15% O|Lf) 2 -> 2 ZHE| RpoH
FEE : 1250, CARD_BALANCE : %}
PTS_STC_023 1&1~5 = B}L} -> 2
2E Ty
ol = FEE : 1250, CARD_BALANCE : %}
PTS_STC_024 so| 3 & gle
2E Ty
PTS STC 025
PTS STC 026
<CLOCK: HHHHBHH RS >
PTS_STC_027 1&1~5 = 8lL} or 2 (FFE Ef A|)
FEE : ####
N Ef LA|ZH 1 E 2 CHB/M), 2 S}
PTS_STC_028 1&1~5 = 8lL} or 2 (FFE Efj A])
(1/0),2HoH e F7|ID count
o Ef A2t 1 &==THB/M), SSHAL
PTS_STC_029 1&1~5 = 8lL} or 2 (FFE Ef A|)
(1/0),ZhoH, cHad 7|ID count
. EJLAI 2 I E 4 EHB/M), S5k
PTS_STC_030 l&l~5 & oftfor 2 (&S B2 M| |0 qov sy ma o)
- QIt Fh= EfL Al) G == ©=
ID_count
E|A|ZH D E2ACHB/M), 28K
2->2->1&1~5 & &tL} or 1&1~5 = 12 T okt
PTS_STC_031 (1/0), XM FtEQ| 7|20 Y=
StLt -> 1&1~5 = BlL} -> 2
Et= CHOET|ID_count
PTS_STC_032 Clocke| 32 Za} A AR
1&1~5 = L} or 2 0| &2} 40| | FEE : 1650|1750,
PTS STC 033 F StLt |= st27t Hof |
7t 1&1~5 & StLt or 2 CARD_BALANCE : xtzt=l Ztol
PTS_STC_034 - OK.txt A
PTS_STC_035 sto| 3t 2 gle
PTS_STC_036 sto| 3t 2 gle

Team 7

10
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PTS_STC_037 ol o & g2
PTS.STC.038 | &0l & = gig
PTS_STC_039 ol o & g2
PTS_STC_040 siol of ~ oo
PTS_STC_041 siol of ~ oo
PTS_STC_042 siol of ~ oo
PTS.STC.043 | &0l & = gig
PTS_STC_044 sfol o = gle
Clock2 Cts EME AblE,
PTS_STC.045 OK.ixt S0 2t=  Terminal_DataZ}
M=Z0| 4

2.2 Test items

21

A

2.3 Input specifications

21

A

24 Output specifications

21 #=x

Environmental needs

32bit Cygwin

System test summary report

4.1 Test summary report identifier

< Team 7 >

Team 7
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Test Case Identifier Result
PTS_STC_000_& A} PASSED
PTS_STC_001_& X} PASSED
PTS_STC_002_& Xt PASSED
PTS_STC_003_& Xt PASSED
PTS_STC_004_& Xt PASSED
PTS_STC_005_gs}At PASSED
PTS_STC_006_d}A} PASSED
PTS_STC_007_s}At PASSED
PTS_STC_008_%t& PASSED
PTS_STC_009_zt& 1.PASSED / 2. FAILED
PTS_STC_010_%t& PASSED
PTS_STC_011_zt& PASSED
PTS_STC_012_=t& PASSED
PTS_STC_013_=t& PASSED
PTS_STC_014_0O|7g At PASSED
PTS_STC_015_0O| g At PASSED
PTS_STC_016_0O| g At PASSED
PTS_STC_017_0O|7H At PASSED
PTS_STC_018_O| g At PASSED
PTS_STC_019_0O|7g At PASSED
PTS_STC_020_7|Ef PASSED
PTS_STC_021_7|Ef PASSED
PTS_STC_022_7|E} PASSED
PTS_STC_023_7|E} PASSED
PTS_STC_024_7|E} PASSED
PTS_STC_025_7|E} PASSED
PTS_STC_026_7|Ef FAILED
PTS_STC_027_MH{ PASSED
PTS_STC_028_MH{ PASSED
PTS_STC_029_A{H PASSED
PTS_STC_030_A{H PASSED
PTS_STC_031_A{H PASSED
PTS_STC_032_MH PASSED
PTS_STC_033_AMH PASSED

Team 7 12




Ver. Team7-2014.PTS.STP-1.0

< Team 1 >

Test Case Identifier Result

PTS_STC_000

PTS_STC_001

PTS_STC_002

PTS_STC_003

PTS_STC_004

PTS_STC_005

PTS_STC_006

PTS_STC_007

PTS_STC_008

PTS_STC_009

PTS_STC_010

PTS_STC_011

PTS_STC_012

PTS_STC_013

PTS_STC_014

PTS_STC_015

PTS_STC_016

PTS_STC_017

PTS_STC_018

PTS_STC_019

PTS_STC_020

PTS_STC_021

PTS_STC_022

PTS_STC_023

PTS_STC_024

N|lZ2|9|9v|Z2|Z2|9|v9|©v|Z2|9|9|OU|O|Z2|9|U|U|OU|U|U|U|O|TU|OT|TO

PTS STC 025

%2
X

2t A 2l

n|h
£ (g9
rir | rir

ox
4o (o

PTS STC 026

%2
X

2t A 2l

PTS_STC_027

PTS_STC_028

PTS_STC_029

PTS_STC_030

PTS_STC_031

PTS_STC_032

PTS_STC_033

U ||| Z2|2|2|T0 |0

PTS_STC_034

Team 7 13
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PTS_STC_035

PTS_STC_036

PTS_STC_037

PTS_STC_038

PTS_STC_039

PTS_STC_040

PTS_STC_041

PTS_STC_042

PTS_STC_043

PTS_STC_044

v|Z2|Z2|Z2|Z2|1Z2|Z2|Z2|Z2|Z2|Z2

PTS_STC_045

Evaluation

<Team 7>

Total: 32

Passed: 30

Failed: 2

<Team 1>

Total: 46

Passed: 26

Failed: 18 (2401 & £ Ql= ZALIX| Z3} SRSO| Q= AHO|A= X Q)

rir

Test Case2 HIEtC 2 LIHX| 2749 @=2x £H3 o™

Team 7 14
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Team 79| ARl &17F ZQst AL, AR &

7| Total_Bus_Data.txt - 0| 25

HEE MO 27V &

oo
e

;I Total_Metro_Data.tct - | 2 &

Hemn ®

MA@ BI|V) &

1205014045, 0,6500

oo

| trans_history.txt - 2%

mm HEIE MAO) BIV) ESTMH)
0,0,0,0,080.0,0,0,080,0,0,0,080,0,0,0 080,0,0,0,080,0,0,0, 0BEND

PTS_STC_027~032

terminalInf
terminalInf
T 1_Bus_D
termir f
terminalInfe

gmentation fault (core dumped)

nion

Team 7 15



PTS_STC_027~032

14215, 1.1,1050.5001000c8

56.1.0.0.50010

paymentD:

0,0.0,081205004212.0,1,1950, 700

t paymentData_UM.nc - 0123

1205004212, 0.

$ cd union
ion
/PTS_T7 .exe
Tease,Input CardNumber And TerminalNumber For Executior
rdNumber: cardl.txt
TerminalNumber: 5
**%Sery Calculating Please, Wait Just Seconds

~/union

$ cd union

~/union
exe
nput

CardNumber And TerminalNumber For Execution
2. txt

0

)01
rver is Calculating Please, Wait Just Seconds

Al

el

Team 7

pmeros ST A

04340, 1

05004340.0,1,7050

1050, 7001000081205004340,0, 1, 1050, 70010007 §1205004592,0, 1

[

| paymentData_5001.txt - DIIE:!

oHeF)

Ver. Team7-2014.PTS.STP-1.0

1.1050.5001000181205004534, 1

1750.5001

004547 .1

7001000181205004532

1250, 7001000281 205004557.0,0, ¢

00200008

05

15548

™ _PTS_STC_024,025,026

=

-~
HIUE) MAO) EZIV) ESEH)

-

= _PTS_STC_024,025,026

16



Ver. Team7-2014.PTS.STP-1.0

oeE HEE MAO) E7IV) E%(H)
0,0,0,0,081205004215,1,1,1050,5001000081205004340, 1,1, 1050,50010001@1205004534,1,1,1750,5001000281205004547,1,0,0,5001000381 ~

‘ E paymentData_7001.txt - Of| 2& ‘ = =] S

o HEE) MAO) 271V) ESZMH)

0.0,0,0,081205004212,0,1,1050,7001000081205004340,0,1, 1050, 70010001@1205004532, 0,1, 1250, T00100021205010501,0,1,0,50010011@1 ~

| terminalinfo_S001.txt - M2

== =
oLE EHEE MAO) 27I(V) ESEH)
50010028 -
E paymentData_7001.txt - Of| 2% ‘75 = =
mel(F) EEE) M0 27(V) ESUH)

0.0.0,0,081205004212,0,1,1050,7001000081205004340,0,1,1050,7001000181205004532,0,1, 1250, 7001000281205010501,0,1,0,5001001 1§81 ~

E paymentData_UB.txt - 0| 2 & |ﬂ

oD@ HEE MAO) B7IV) ESEH)
1205004215, 1,1,1050,5001000081205004340, 1,1, 1050, 5001000181205004534,1,1,1750,5001000281205004547,1.,0,0,5001000381205005300, -~

oE EEE MAO) 2YV) EIUH)

[1205004212,0,1, 1050, 7001000081205004540,0, 11,1050, 7001000181205004532. 0,1, 1250, 7001000281205004557.,0, 0,0, 7T002000081205005545, ~

PTS_STC_020,021,022,023
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Ver. Team7-2014.PTS.STP-1.0

Team 1 9| AL PTS_STC 011, PTS_STC_016, PTS_STC_031 AtZl *t

k1
N
ME
fo
ey
2
>
Pl
o
4
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Ver. Team7-2014.PTS.STP-1.0

Standards==

||l | B

0OCK: 201412040

n_Transte

BALAMNCE : 500

PTS_STC 011
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Ver. Team7-2014.PTS.STP-1.0

:CLIZ:IC Kr 2001412130512 ==

TYPE: «<<Calculate_Bus_0Off_5Standards==
FEE : 0
CARD BALANCE : 500

PTS_STC_Ole6
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Ver. Team7-2014.PTS.STP-1.0

Card_Datatxt - 2 &

o #EEE MAO) 2N !
201412020712 ,M,1,998950,1_1
201412020736,M,0,998750,4_1
======== 201412020800,8,1,998750,0_1
] 4 ] Oens = (] Qg7 Cn ]
201412020840,M,1,998750,2_1
201412020856,M,0,998150,4_1
201412020856,6,1,998150,0_1
201412020904 ,B,0,998150,0_1

OCK: 201412

TYPE: alcul: In_Transfers:=

FEE 0

OCK: 201412

PTS_STC 031

Team 7
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